Lezione 9
CALCOLO DI LIMITI

Calcolare i seguenti limiti:
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31) Discutere, al variare di a € R, il valore dei seguenti limiti: a) lim ( - ax) ;
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RISULTATI:

1)-,2)0:3)07;4)+%;5)+®;6)0";7)+®;8)+0;9)0;10)+00;11)-0; 12)-00; 13)0;14)+ o}
15)+00;16)1/3;17)3/2;18)—5/2;19)+®;20)0" ;21)5/6;22) 1/3sex =+, -1/3sex —=>-;23)—1;
24)0";25)07;26) 1/2 ;27)9/2;28)-2;29)2;30)0 ;31)a) —2sea=1,+wosea<l, -osea>1;

b)-1/2 sea=1,+ose0<a<l,-osea>1;c) lsea=2,0sea<2,+wosea>2,d)-osea<-1oppurea>0,
t+owose -1<a=<0,-2sea=-1.



